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Roll No. ...................

M. A. (First Year) Examination, 2012

SOCIOLOGY

MASO - 03

Indian Social System

Xkk@PmZk bkkYkklHkAù ^Zk^kbQkk

Time : 3 Hours Max. Marks : 60

Note : This questions paper is divided into three sections A, B and C.

Zkc Ék#TkUÇk &Aù"ä &Bk" ¢kw@ &Ck" PmTk BkOMkx Ykx l^kXkklHkP cw‹ Ék’ZkvAù BkOM Avù lTkRvr#kkTknbkk@
Ék#Tkkx Aùk ¤Åk@ Rx‹

Section - A

BkOM - Aù

(Long Answer Questions)

(RmDkr ¤Åk@mZk Ék#Tk)

Answer any two questions. 15×2=30

lAùTc{ Rkv Ék#Tkkx Avù ¤Åk@ RmlHk.‹

1. What do you mean by caste system? Discuss the future of caste system in India.

HkklP ^Zk^kbQkk bkv ¢kU ‘Zkk bkYkIkPv cy? Xkk@P Ykx HkklP ^Zk^kbQkk Avù Xkl^kaZk Aùm l^k^kvFkTkk
AùmlHk.‹
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2. Define Westernization and discuss its impact on Indian Society.

U†#FkYkmAù@Ok Aùkv Ul@XkklakP AùmlHk. PQkk Xkk@PmZk bkYkkHk Ykx £bkAvŠ ÉkXkk^k Aùm l^k^kvFkTkk
AùmlHk.‹

3. Define Marriage and discuss various forms of marriage.

l^k^kkc Aùkv Ul@XkklakP AùmlHk. PQkk l^k^kkc Avù l^klXkÆk ÉkAùk@kx U@ FkFkkr AùmlHk.‹

4. What is Family? Discuss the change in the structure and funtion of the joint family.

Ul@^kk@ ‘Zkk cw? Xkk@P Ykx bkgZkn‘P Ul@^kk@ Avù AùkZkkv‰ ¢kw@ bkg@FkTkk Ykx ¢kZkv Ul@^kPrTkkx Aùm
l^k^kvFkTkk AùmlHk.‹

Section - B

BkOM - Wk

(Short Answer Type Questions)

(\kDkn ¤Åk@mZk Ék#Tk)

Answer any four questions. Each answer should not exceed 100 words. Each

question carries 5 marks. 5×4=20

1. Write a short essay on the status of women in India with examples.

Xkk@P Ykx Yklc\kk¢kvg Aùm Ék†bQklP U@ bkgldkÈk Ykx .Aù lTkWkTSk ¤Rkc@Ok bklcP l\klBk.‹

2. What is Jajmani System?

HkHkYkkTkm ^Zk^kbQkk ‘Zkk cw?

lcTRo l^k^kkc ¢lSklTkZkYk ååååååååååååååååå Ykx Ukl@P lAùZkk CkZkk‹

(a) 1954

(b) 1955

(c) 1998

(d) 2001
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3. What is the relationship between caste and Politics? Discuss.

HkklP ¢kw@ @kHkTkmlP Avù WkmFk ‘Zkk bkYWkTSk cw? FkFkkr AùmlHk.‹

4. What do you mean by Sanskritization?

bkgbApùlPAù@Ok bkv ¢kU ‘Zkk bkYkIkPv cy?

5. Discuss the causes of Divorce.

l^k^kkc l^kFGvR Avù Aùk@Okkx Aùm l^k^kvFkTkk AùmlHk.‹

6. Write a short note on caste and Varna.

HkklP ¢kw@ ^kOkr U@ .Aù \kDkn \kvBk l\klBk.‹

7. Explain Traditional Theory of Caste System.

HkklP ^Zk^kbQkk Avù U@YU@kCkP lbkákTP Aùm ^ZkkBZkk AùmlHk.‹

8. What is Social Change?

bkkYkklHkAù Ul@^kPrTk ‘Zkk cw?

Section - C

BkOM - Ck

Objective Questions (Compulsory)

^kbPnlTkí Ék#Tk (¢lTk^kkZkr)

Answer all the questions. 1×10=10

bkXkm Ék#Tkkx Avù ¤Åk@ RmlHk.‹

bkgbApùlPAù@Ok Aùm ¢^kSkk@Okk lAùbkTkv Rm‹

(a) RnBkmrYk

(b) Ykk‘bkr

(c) ^kvWk@

(d) ÌkmlTk^kkbk

9. Mutta is a-

(a) A temporary form of Marriage in Muslim

(b) Culture in Christians

(c) Hindu rites

(d) Punjabi ritual.

YknPk cw -

(a) Ykn†b\kYkkx Ykx ¢bQkk£r l^k^kkc Aùk .Aù ÉkAùk@

(b) £rbkk£Zkkx Ykx .Aù bkgbAùk@

(c) lcTRo bkgbAùk@

(d) lbkBk @mlP-l@^kkHki

10. Hindu Marriage Act was passed on .................

(a) 1954

(b) 1955

(c) 1998

(d) 2001
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1. Unity in diversity is an important characteristics of Indian Society. (True/False)

l^kl^kSkPk Ykx .AùPk Xkk@PmZk bkYkkHk Aùm .Aù YkcÅ^kUoOkr l^k#kvakPk cw‹ (bk’ZkÖ¢bk’Zk)

2. Hindu Marriage is a Sacrament. (True/False)

lcTRo l^k^kkc .Aù SkksYkAù bkgbAùk@ cw‹ (bk’ZkÖ¢bk’Zk)

3. Cousin marriage is of four types. (True/False)

bkckvR@ l^k^kkc Fkk@ ÉkAùk@ Avù ckvPv cy‹ (bk’ZkÖ¢bk’Zk)

4. The child Marriage Restraint Act was enacted on 1927. (True/False)

Wkk\k l^k^kkc lTkCk|c ¢lSklTkZkYkä 1927 Aùkv \kkCko cn¢k‹ (bk’ZkÖ¢bk’Zk)

5. There is a relationship between Caste and Politics. (True/False)

HkklP ¢kw@ @kHkTkmlP Avù WkmFk bkYWkTSk cw‹ (bk’ZkÖ¢bk’Zk)

Choose the correct alternative :

bkcm l^kAù\U FknlTk. :

6. The word ‘Varna’ was first used in -

(a) Rigveda

(b) Atharvaveda

(c) Kam

(d) Moksha

&^kOkr #kWR Aùk ÉkZkkvCk bkWkbkv Uc\kv lAùZkk CkZkk ååååååååååå Ykx‹

(a) ,C^kvR

(b) ¢Qk^kr̂ kvR

(c) AùkYk

(d) Ykkvdk

7. The marriage in which high caste male married a low caste female

(a) Hypergamy

(b) Endogamy

(c) Hypogamy

(d) Exogamy

^kc l^k^kkc lHkbkYkx ¤Ãk HkklP Aùk Unéak lTkYTk HkklP Aùm Yklc\kk bkv l^k^kkc Aù@Pk cw?

(a) ¢Tkn\kkvYk l^k^kkc

(b) ¢TPl^k^kkc

(c) ÉklP\kkvYk l^k^kkc

(d) Wklcl^kr̂ kkc

8. The concept of Sanskritization was given by -

(a) Durkheim

(b) Marx

(c) Weber

(d) Srinivas


